

## MALAVIYA NATINOAL INSTITUTE OF TECHNOLOGY JAIPUR

## Name of work:-Pandal,Tent,Stage arrengement, PA System including Video Recording & Photography work for 14th convocation Ceremony 20/01/2020 at central Lawn MNIT, Jaipur.

G-Schedule					
Name of the Firm:-					
S.No	Qty	Items	Unit	Rate	Amount
		PART A			
1		Chairs :			
1.1	2500.00	Steel pipe pedded chair	Each.	30.00	75000.00
2		Tables :			
2.1	45.00	Wooden Table 6' x 2' (Babool).	Each.	30.00	1350.00
2.2	10.00	Centre Table sunmica Top 2'x4'	Each.	50.00	500.00
3		Floor Covering :			
3.1	6500.00	Non woven synthtic carpet (Red/Green) (New)	Sqm.	25.00	162500.00
3.2	100.00	Woolen Carpet (New).	Sqm.	35.00	3500.00
3.3	20.00	White Cotton chader (Sheet) (Washed)	Sqm.	20.00	400.00
4	600.00	Pipe Pandal with covering ht <b>from</b> to 12 to 18 ft	Sqm	30.00	18000.00
5	3000.00	Curtain cloth (View cutter ) made out of steel pipe frame covering with good quality white cloth to cut view including making holes and made necessary strengthening support against wind pressure complete .	Sqm	25.00	75000.00
6	30.00	Kanat fixed without Tent. (15'x6')	Each.	50.00	1500.00
7	50.00	5mm Galvanised Iron (G.I) pipe 6 mtr. long with new silk flag.	Each.	72.00	3600.00
8	1.00	Speech Stand having Sunmica top.	Each.	150.00	150.00
9	2500.00	white cotton cloth cover for padded chair inculding ribbon	Each.	10.00	25000.00
		Barricading			

10	2000.00	Barricading with M.S. Pipe as per design including tying with vertical post including digging out holes in all types of soil complete in all respect with two horizontal members height 1.2 m upto 1.5m above ground level and vertical supports upto 2.5 centre and upto 3 days period including removal and cleaning the site complete in all respect & including dressing of sides in all types of soil.	Rmt.	25.00	50000.00
11	50.00	Making of holes in cement concrete/ Bitumenous road by power driven hammer for barricating work as per direction of Engineer in charge	Each	170.00	8500.00
12	10.00	Hire charges for folded type two seater sofa set (cum bed) with good quality white cloth cover	Each	240.00	2400.00
13.0	70.00	VIP Chair with cushion	Each	100.00	7000.00
14		Water proofing canopy with ornamental frill, inner ceiling & curtains			
15	100.00	Upto size 20'x20'	Sqm	175.00	17500.00
16	2.00	Chemical toilet with house keeping arrangement and providing liquid soap, tissues, comb, freshener etc.	Each	6000.00	12000.00
		PART B			
17		Hire charges of public address system for a important public function with 5/ 6 no. of microphones with following nos of stand Hi Fi box, speakers/ Horns, stand by amplifiers , battery backup complete including transportation etc. as required : ( At district Head Quarters )			
18	1.00	4 Nos 3 Way Big Box Speakers,(upto 5000 audiences)	Job p. day	6500.00	6500.00
19	8.00	Hire charges for table microphone (Delegate type)	Each p. day	200.00	1600.00
20	4.00	Hire charges for collar cordless/ Handheld microphone with long lead lavilier	Each p. day	505.00	2020.00
21	1.00	Hire charges for 2 nos. 3 way Bigbox speakers with 5/6 Microphones, mixer, echo chamber, Amplifier, Battery back up etc as reqd for Musical programme			4500.00
22		Hire charges for 500/1000 Watt halogen flood luminaire as	Job p. day	4500.00	
	<b>5</b> 0.00	required.(with Lamp)		45.00	2250.00
23	50.00	With suitable pole       Hire charges for power/light plug on board as required for shops/ stalls	Each p. day	45.00	700.00
24	20.00	rine enarges for power/ngnt plug on board as required of shops/ stalls	Each p. day	35.00	/00.00

25	50.00	Hire charges for 250/400 watt metal halide luminaire with lamp and pole of required height as required.		135.00	6750.00
			Each p. day		
26		Hire charges for Silent type D.G. Set, including Operator ,change over switch. Control panel etc. and excluding POL as required.of following capacity:			
27	2.00	Above 62.5 KVA and upto 125 KVA	Each p. day	7574.00	15148.00
		-	Total		503368.00
		SAY			503368.00
		Percentage "Above" or "Below"	" or "At par" the Est	timated cost of work/s	schedule
Estimated cost of				Price	
Sr.No.	work (in Rupees)	"Above" or "Below" or "At Par"	% in Figures	In Words	Total Cost (in Rupees)
1	3	4	5	6	7
1	503368.00				-
TOTAL COST	<b>502 2</b> (0 00		TOTAI	0.00	
OF SCHEDULES:-	503,368.00				
SCHEDULES:-	503,368.00 tal (in words)				
SCHEDULES:-		H Scholele			
SCHEDULES:- Grand To	tal (in words)	<u>H-Schedule</u>			
SCHEDULES:- Grand Tot S.No	tal (in words) Qty	Items	Unit	Rate	Amount
SCHEDULES:- Grand Tor S.No 1	tal (in words) Qty 1.0	Items   Head Table Setup - for 8 Person	<b>Unit</b> package		Amount 0.00
SCHEDULES:- Grand Tor S.No 1 2	tal (in words) Qty 1.0 8.0	Items     Head Table Setup - for 8 Person     Big size black / white Leather / leatherette Chairs	Unit package Each.		Amount 0.00 0.00
SCHEDULES:- Grand Tor S.No 1	tal (in words) Qty 1.0	Items   Head Table Setup - for 8 Person	<b>Unit</b> package		Amount 0.00
SCHEDULES:- Grand Tor S.No 1 2 3	tal (in words) Qty 1.0 8.0 8.0	Items     Head Table Setup - for 8 Person     Big size black / white Leather / leatherette Chairs     Dais plate     Flowers decoration of stage ( on the dais, in front of dais,	Unit package Each. Each.		Amount 0.00 0.00 0.00
SCHEDULES:- Grand Tor S.No 1 2 3 4	tal (in words) Qty 1.0 8.0 8.0 1.0	Items     Head Table Setup - for 8 Person     Big size black / white Leather / leatherette Chairs     Dais plate     Flowers decoration of stage ( on the dais, in front of dais, back side wall, side walls) and on the front wall of stage.	Unit package Each. Each. package		Amount 0.00 0.00 0.00 0.00
SCHEDULES:- Grand Tot S.No 1 2 3 4 5	tal (in words)       Qty       1.0       8.0       1.0       20.0	Items     Head Table Setup - for 8 Person     Big size black / white Leather / leatherette Chairs     Dais plate     Flowers decoration of stage ( on the dais, in front of dais, back side wall, side walls) and on the front wall of stage.     Hand Bouquets of red roses	Unit package Each. Each. package Each.		Amount 0.00 0.00 0.00 0.00 0.00
SCHEDULES:- Grand Tor S.No 1 2 3 4 5 6	tal (in words)       Qty       1.0       8.0       1.0       20.0       15.0	Items     Head Table Setup - for 8 Person     Big size black / white Leather / leatherette Chairs     Dais plate     Flowers decoration of stage ( on the dais, in front of dais, back side wall, side walls) and on the front wall of stage.     Hand Bouquets of red roses     Centre Table with glass top     Welcome Gate for Procession	Unit package Each. Each. package Each. Each. Each.		Amount 0.00 0.00 0.00 0.00 0.00 0.00
SCHEDULES:- Grand Tor S.No 1 2 3 4 5 6	tal (in words)       Qty       1.0       8.0       1.0       20.0       15.0	Items     Head Table Setup - for 8 Person     Big size black / white Leather / leatherette Chairs     Dais plate     Flowers decoration of stage ( on the dais, in front of dais, back side wall, side walls) and on the front wall of stage.     Hand Bouquets of red roses     Centre Table with glass top	Unit package Each. Each. package Each. Each. Each.		Amount 0.00 0.00 0.00 0.00 0.00 0.00
SCHEDULES:- Grand Tot S.No 1 2 3 4 5 6 7	tal (in words)       Qty       1.0       8.0       1.0       20.0       15.0       2.0	Items     Head Table Setup - for 8 Person     Big size black / white Leather / leatherette Chairs     Dais plate     Flowers decoration of stage ( on the dais, in front of dais, back side wall, side walls) and on the front wall of stage.     Hand Bouquets of red roses     Centre Table with glass top     Welcome Gate for Procession     Branding / Signage	Unit package Each. Each. package Each. Each. Each. Each.		Amount 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.
SCHEDULES:- Grand Tor S.No 1 2 3 4 5 6 7 7 8	tal (in words)       Qty       1.0       8.0       1.0       20.0       15.0       2.0	Items     Head Table Setup - for 8 Person     Big size black / white Leather / leatherette Chairs     Dais plate     Flowers decoration of stage ( on the dais, in front of dais, back side wall, side walls) and on the front wall of stage.     Hand Bouquets of red roses     Centre Table with glass top     Welcome Gate for Procession     Branding / Signage     Main Backdrop 40'x15'	Unit package Each. Each. package Each. Each. Each. Each. Job		Amount 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.

12	15.0	Signage on Welcome Gate – near Central Lawn 20'x3'			0.00
13	10.0	Signage on Welcome Gate – near Central Lawn & 12'x3'	Each.		0.00
14	1.0	Charges for Digital photography (still) of convocation and Lunch complete and provide three sets of DVD to MNIT	Job.		0.00
15	1.0	Charges for digital Videography of convocation and Lunch complete and provide three sets of DVD to MNIT	job		0.00
16	2750.0	Water Bottles 200 ml	Nos.		0.00
17	60.0	Directional stand 4' ht.	Nos.		0.00
18	1180.0	Supply of printed photo of students receiving degree size 8"x10"by 8.00 PM on 19.01.2020	Nos.		0.00
19	10.0	Panel for parking & No parking – 5x2 ft.	Nos.		0.00
20	750.0	Wooden platform with ramp -	sq. ft.		0.00
21	30.0	Q Manager	Nos.		0.00
22	240.0	Panel on stage top side in star flex 60x4 ft	sq. ft.		0.00
23	2.0	Main Chair	Each		0.00
24	2.0	Ramp for handicap student 8x4 ft			0.00
25	4.0	Raiser with carpet & masking for web casting team	Each		0.00
26	10.0	khadi Ki Mala	Nos.		0.00
27	10.0	Leather sofa set two sheater	Nos.		0.00
28	240.0	Pannels for Photosetion 20'*12'	sq. ft.		0.00
29	100.0	Diesel for Generator	Per Liter		0.00
				TOTAL	0.00
	Total G Schedule + H-Schedule	0.00			